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Topic:- GENERAL HINDI

1) <3 IUFT A TG ¢ -
1. 3THA

2. 3Tl

3. 3D

4. 3

Correct Answer :-

. YD

2) FTOp BT A A B9 91 9 Aaw Isg 32
1. 54Ut

2. WY

3. BT

4. g

Correct Answer :-

3) ‘gl HehdT g Y19 BT BTH I WY T I DT YPR Id53?
1. UYarID



Correct Answer :-

4) NPFA P IR P RA e g FH AT s AT
1. STy

2. 3(dY

3. DA

4. 3fddf®

Correct Answer :-

5) ‘AR B! YR W TA@-I GeTax 1 31 8-
1. 07 81 ST

2. e UTed R T

3. SIRAH 4RI BTH HIAT

4, TR ST

Correct Answer :-

. OIREH YRT HTH HAT

6) BTy & T TGt yataardt arel Mg @1 ufed &l gl
1. RIT,TTOT DR

2. T, WBI0L AR

3. G, UTOT h

4. B, TT10T, B3

Correct Answer :-

7) 'q@ 97 A IH 1 ! Ufed A @R da1sv -
1. AAIH0T

2. Jffawafag



3. JHH
4. I

Correct Answer :-

8) «Uf¥uI” Xeg &1 Wel faug w1 § 2
1. G + 0H

2. UR + 419

3. UR + |

4. U+HMH

Correct Answer :-

. OR+9MH

9) ‘GRIEV R Ha$s ST IR YY AHT 94T 81’ 39 aTed W HeT Igag | ¥e ard g &1 J1d B |
1. qRIeXT

2.8

3. GRM

4. Hidh S

Correct Answer :-

4, TRaATad

Correct Answer :-

Topic:- GENERAL ENGLISH



1) Choose the option that best expresses the meaning of the highlighted idiom/phrase:
How can you be as fresh as a daisy so early in the morning?
1. energetic

2. innocent
3. flushed
4, delicate

Correct Answer :-

* energetic

2) Out of the following options, choose the correct form of verb that is in agreement with the subject for the
given sentence:

My family many individualists.

1. taken
2.1s

3. has
4, are

Correct Answer :-
e has
3) Out of the following four options, choose the incorrect sentence:

1. She walked beside him, her hand in his, gazing at the full moon while the soothing breeze murmured through
her hair.

2. The bride was dressed on an ivory gown that was studded with crystals and embellished with lace.
3. Instead of arguing with Rob about the error in the accounts, Uday was prepared to work with him to tally them.

4. Last year, the company had not budgeted for this extra expenditure that we incurred during the current financial
year.

Correct Answer :-

« The bride was dressed on an ivory gown that was studded with crystals and embellished with lace.

4) Out of the following options, choose the correct form of adverb for the given sentence:

Dev walks his dog. Instead, his father takes it for a walk every morning.



1. always

2. often

3. rarely

4. quite

Correct Answer :-

« rarely

5) Out of the following options, choose the most appropriate usage to fill in the blank:

The cargo  four tones of biofuel.
1. comprises off

2. filled with

3. consisted with

4. consists of

Correct Answer :-

» consists of

6) Out of the following options, choose the most appropriate tense that best fills in to complete the given
sentence:

Jane __ just a few minutes ago.
1. has been left

2. had leave

3. leaves

4, left

Correct Answer :-

o left

7) Choose the option that correctly sequences the following sentences.

1. Companies big and small have had to reinvent themselves.
2. Remarkably, more than one Indian corporation has managed this painful transition successfully.
3. Not just in terms of how they do business, but what business they do.



4. For corporate India, there has been no decade like the 90s.
5. The brave sailors of corporate India had to set sail in the treacherous waters of the 21st century.

1. 31452
2.45132
3.25431

4. 13542

Correct Answer :-

« 45132

8) A sentence with an underlined word is given below. Choose the correct option which is closest in
meaning to the underlined word.

The climate in the tropics can often be enervating.
1. debilitating

2. invigorating

3. variable

4. humid

Correct Answer :-
« debilitating

Topic:- GENERAL KNOWLEDGE

1) Name the British Prime Minster who granted India’s Independence in 1947? /

39 fafewr gyt &1 9 qarg, el 1947 # yRa o) wdFar § 2
1. Neville Chamberlain / Afgd R

2. Winston Churchill / fd&e GIE[]

3. Louis Mountbatten / g9 ATdcac

4. Clement Richard Attlee / e TS Tea

Correct Answer :-

¢ Clement Richard Attlee / Fode = Qaé

2) ‘The test of my Life’ is an autobiography co-authored by which Indian cricketer? /



‘G K TP HIg AP’ fhd HRAI fshdhex §RT Hg-a@ 31 T STHBYT 32
1. Sachin Tendulkar / G dgead

2. Kapil Dev / ®Ud <d

3. Sunil Gavaskar / g-Tel TGHY

4. Yuvraj Singh / gaRTS Rig

Correct Answer :-

+ Yuvraj Singh / RS Rig

3) The Ken river passes through which of the following Tiger Reserves in Madhya Pradesh? /
P 71, 7o wewr § Faferfad o 3 frd 9™ SvaRvg | e TeRdl 82

1. Kanha Tiger Reserve /?:b"l%TE'IETI?ﬁTﬂ?ic

2. Panna Tiger Reserve /‘ZI:iTE'IETITﬁTﬂ?ic

3. Satpura Tiger Reserve /WE’E‘WW

4. Pench Tiger Reserve / g CIRTR frord

Correct Answer :-

e Panna Tiger Reserve / U~ CIgIR frord

4) Where in Madhya Pradesh is Northern Coalfields Ltd., a Govt. of India undertaking, is located? /

A U § YRd TRPR $T 4N IR Igares fafies, sel fRa g2
1. Sohagpur / FIBTE'I"TER

2. Mandla / H&dl

3. Junnardeo / JARGA
4. Singrauli / RITRYd

Correct Answer :-

 Singrauli/ RITRYd

5) Where is the Central Bureau of Narcotics located in Madhya Pradesh? /
T TSR B Heilg ARBIeRT IR gl (AT 82
1. Indore / $GR

2. Jabalpur / SISAYR
3. Bhopal / T

4. Gwalior / TTferIR



Correct Answer :-

« Gwalior / W@TferaR

6) The Swachh Bharat Summer Internship (SBSI) 2018 was the initiative of The Ministry of Drinking Water and
Sanitation in association with the .

TS HRA WHS TN ge-R1T (Tadegans) 2018 P IR 4 UOoTdl iR Ta=3d1 HaATerd 9 ugd A2

1. Ministry of Rural Development / gt fabr Hare

2. Ministry of Human Resource Development / HI-d T faehTd HalTerd
3. Ministry of Health and Family Welfare / ¥dT®J 3R AR HedTor HTe

4. Ministry of Social Justice and Empowerment / STHIST <1 3R AT T

Correct Answer :-
« Ministry of Human Resource Development / HId S814- a1y #ATerd

7) Which of the following provisions was provided in the Original Constitution of India? /
YRd & ga dfaur # Frafefaa 8 @ #1991 uraur= wer= far mar ure

1. India as a federation of states / I} & Y B ¥ U H HRT

2. Integrated and executive-dependent judiciary / QT:B:\W IR FrfeR-FaRk gt

3. Three-tier system of government / PR P -G HoTett

4. Three-fold distribution of legislative powers / &} =ifdeal &1 dii= T faaRor

Correct Answer :-
o Three-fold distribution of legislative powers / faurh =ifdadt &1 dH RIGII ICGRUY

8) Who among the following was the first person to serve as the Acting Governor of Madhya Pradesh? /
A YN P SRITS ATUTd P ¥U § Hal P31 aTel Ugal safa Fafefad § 4 o149 A2

1. Dr. Bhai Mahavir / 3. 41§ HglAR

2. Justice N.D. Ojha / SIf%cq TH. 81, 3z

3. Justice G.P. Singh / Sfeeq St Rig

4. Justice P.V. Dixit / Sif&cq Ut 1. diférd

Correct Answer :-

« Justice P.V. Dixit / SReg oY dt. iféa

9) Who founded the Malwa Sultanate, which forms the part of the present day Madhya Pradesh? /



HITAT Hed-1d DI RITYAT [BH D, ST (TS e Y BT 6T 82
1. Hoshang Shah / BI=AT TM8

2. Ghazni Khan / 951 @

3. Mahmud Khalji / TgY9g Raereft

4. Dilawar Khan Ghori / f¢@TaR 3= Mt

Correct Answer :-
« Dilawar Khan Ghori / f¢@TaR 3= M3
10) CANCELLED

Who is the President of Madhya Pradesh Consumer Disputes Redressal Commission? /

TYSR IUHITT faare fFarRuT ST & 3reaed &1 82
1. Justice Rakesh Saksena / =aTaHfc JIHT T
2. Justice R.K. Agarwal / T 3R.%. U

3. Justice Naresh Kumar Gupta / =ITHfcl AR HHR Tl
4. Justice PX. Jaiswal / <arfd Ut 3. Siara

Correct Answer :-

« Justice Rakesh Saksena / =ITIHfc THT T

Topic:- GENERAL REASONING

1) Find the average. / 3 d ITd Y|
98, 75, 65, 78, 35 & 45

1. 64

2.63

3. 66

4. 65

Correct Answer :-

2) The below series uses a sequence of alphabets and numbers. Identify the incorrect combination: /
W & 15 e sreRY vd T=me BT I H W Hdl 3 1 TAd Wae{ uga |
(i) an75ermu74

(ii) an75ernu74



(iii) an75ermu74

(iv) an75ermu74

3) Which one of the following four addresses is NOT EXACTLY same as the one given below? /
frafafad far e IR gal § ¥ 1= fow e ud & St q9E @19 91 v 981 82

Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

(i) Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

(ii) Shop # GF9. Dubai Municipality Al Mananra Centre,
Sheikh Zayed Road,Al Safa 2 — Dubai_ United Arab Emirates
+971 4 346 1616

(iii) Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

(iv) Shop # GF9,Dubai Municipality Al Manara Centre,
Sheikh Zayed Road,Al Safa 2 - Dubai - United Arab Emirates
+971 4 346 1616

1.1

2.1

3.1iv

4. iii

Correct Answer :-

e i

4) Find the missing number: lﬂ'ﬁmﬂﬁﬁ:
7,22, 37, , 67, 82

1. 42

2.62



3.40

4. 52

Correct Answer :-
e 52

5) Archit and Akshat can plough a field in 8 days. Akshat alone can plough the field in 10 days. In how many
days will Archit alone plough the field? /

3iffa 3iix 3rerd 8 faf # U Wd &1 Sild Tbd &1 3ferd 3rPbat 10 &= # Td &) Sild Gbar g1 ifHd b oo
fa & @a +) S g d 82

1.30 days/ 30 feA
2.35days /35 faq
3. 40 days / 40 g

4. 25 days / 25 &

Correct Answer :-

» 40days/ 40 fa

6) If A = 1 and LATE = 38, what is REBUT? /
Tfe A = 1 3T LATE = 38, df REBUT &1 87

1. 67

2.65

3.68

4. 66

Correct Answer :-

7) In a group of 88 people, 26 of them like milk, 76 of them like curd and each person likes at least one of the
two food items. How many people like both milk and curd? /

88 TN & T TYE H, 37TH A 26 g UG HYd 3, ITH A 76 Gl Wi B ¢ 3N YD e g Wrel Uerdi & 9
FH A $H TP THg Hdl g1 df fhat a1 gy ok gt Sl uvig Fvd 72

1. 14
2. 16
3.18

4. 12



Correct Answer :-

e 14

Topic:- PEDAGOGY

1) Dyslexia is associated mainly with difficulties in which of the following? /
fSwifaaan, Frafafea 9 @ foad ger ©u & gF arelt sfemgal & W&lta 82
1. Speaking / CINEL

2. Reading / Ul

3. Hearing / g1

4. Memory / Wﬁf

Correct Answer :-

» Reading / Ue-Tl

2) Which stage is not a part of Kohlberg’s theory of Moral Development? /
Aeaferfea & #1791 Fgeant & afas s & Rgia w1 Rear 781 872

1. Interpersonal Relationships / IT¥ET{F T¥ae=e

2. Individualism and Exchange / Zf<&raar i fafqaa=

3. Social Contract and Social Rights / HTATISE ST ¥ ATHTSE STEHTT

4. Universal Principles / ama«ifas frgia

Correct Answer :-

« Social Contract and Social Rights / STHTIST S ST ATATST SATEHTT

3) Deductive reasoning involves: /

frrTHS 9 | e it giar 8:

1. reasoning from general to particular / HIHIY ¥ fafdre ot ik adh
2. reasoning from particular to general / fafere @ I P 3R dh

3. perceptual thinking / SIIYRUNHD EGR
4. active construction and reconstruction of knowledge / /- &I s fAmior gt l3,:I'IE|"1:I'I'UT

Correct Answer :-

« reasoning from general to particular / HIHIY Y fafere &1 3R adh



4) According to Jean Piaget, children at preoperational stage are: /

of Rraret & Srgem, qeadt wRor (oft SiforTe R ar = A §:
1. Social / JHHTISI (L)

2. Complex / Sfed

3. Egocentric / 3T (g d (FTT2)

4. Adaptable / Giw:ﬂ'q

Correct Answer :-

N [N

. Egocentric / THbI&d (3T D)

5) One of these is an instructional material for a teacher: /
38 QA I 91 U g F e ves FAdzre anht 2

1. Supplementary reading material / g TS GIHU
2. Curriculum guides / I DE D RIS

3. Notebooks / qﬁ?gaq
4. Blackboard / S aTS

Correct Answer :-
« Supplementary reading material / 34D TS FHA

6) The quality of a good science text book is: /

TS 3 Ay uTed Y&as 3t Jurasn A= 8t 8:

1. Inexpensive / =T BT

2. Diagrams / 3R

3. Latest information included / TaHdH STFGR] KA BT
4. Content unorganized / TS AR g

Correct Answer :-

e Latest information included / Ta-dH STHGRT QMTHA _Eﬁ:lT

7) In Gagne's hierarchy of learning, the sixth level is: /

R & SR vergwy ¥, To1 Wk e glar 8:
1. stimulus-response Iearning/ﬁﬂ-&lﬁm ST



2. Concept learning / TR HfETH
3. Discrimination learning / NGHTT 31ETH
4. Rule learning / a9 3ffoH

Correct Answer :-
+ Concept learning / S@YRUI ST

8) Guilford’s model of intellect has which of the following determinants? /
frawiE & gfS afsa & Fafif@a § @ o= @ frufe 82

1. Process, operation and product / gfesar, Jara- 3R IS

2. Content, process and product / T, wifehan 3R IdTe

3. Content, operation and product / STH3H, T 3R 3G

4, Operation, process and systems / T, gferar 3R goret

Correct Answer :-

» Content, operation and product / I, T SR ST

9) In classical conditioning, if the unconditioned stimulus is presented every 15 minutes, this form of conditioning is
called ./

FRufaffa yrea (@S IMa H =) #, afe WIUTa® SEUS (SFAHeIrs ®Igad) Td® 15 fiFe R sufRie
B ¢, dl Up e (Fs == BT =4 PEAMI |

1. Forward conditioning / 313 U] ¢l (Ur)R<3|6r CINIEE

2. Backward conditioning / U0 W& (Shds B I

3. Simultaneous conditioning / GHbICIh UTIH e (HTSHACHIY e =f-)
4. Temporal conditioning / I UG (TR o IIHT)

Correct Answer :-

« Temporal conditioning / &I UG (CHIRT Do IR+

10) Practice is made in ./
quE___ wfewrwmandl

1. Lecture method / SR fafey

2. Deductive method / AT fafey

3. Game-based method / Wd- 3R fafey
4. Drill method / fga fafey



Correct Answer :-

+ Drill method / f$a fafd

11) The main aim of National Council for Teacher Education is: /
AT g e ko o1 =1 3T &:

1. To open colleges of education / Rien® Wﬁ’ﬂlﬂﬁf ARGl

2. To promote research in education / TRI&T & SIHYUT B IGIdT &1

3. To maintain quality standards in colleges of education / fRre o HeTfaemea o urdedl ! DI §AY G

4. To provide grant to colleges of education / fRren & HefaeTadl &f Hal Ual H]

Correct Answer :-

» To maintain quality standards in colleges of education / fRren & weIfd=maal Tord T S ] §TE G-I

12) Maturation is a process where there is_ .
giRuea1 g wfsrar & e g g |

1. an increase in social responses / HTHTIH gfaferars & q@

2. a natural biological development / Uch W EICEAECI]

3. a change due to cultural influences / HRepidd YU & BHRU TP dGad

4. a change due to environmental pressures / TIfeRU1 GE1d & HRUT U& dGard

Correct Answer :-

 anatural biological development / T Eﬂqﬁ%ﬁ EICEAECI]

13) An assessment that is conducted prior to the start of teaching or instruction is known as: /
98 geaic ot &7 a1 3™ A ud farar Siran 8, e wgamar g:

1. Formative assessment / FHT0TE® H™ihT

2. Cumulative assessment / Gl Gl

3. Initial assessment / $TRIHP HedichT

4. Alternative assessment / I eUH H™ihT

Correct Answer :-

« Initial assessment / IRfHEH HeTh

14) Which one of the following represents the domain ‘evaluation’ in the Bloom’s revised taxonomy? /



A & HUT TR0 H 9 ° q B4 A1 'Ge™dip" SHA o UGRId Hd18?

1. Demonstrating the general principles / TTHT Rigidl &1 A

2. Formulating a new way for categorizing objects / aﬁ\’rh Gal wm FRA & o0 TP T ARABT TR HAT
3. Creating a graph or chart using the data / 21 &1 SUTRT B AT T A1E §MT

4. Explaining the information in detail / fJd%R q THSHRI THAT

Correct Answer :-

» Creating a graph or chart using the data / ST HT IGANT B AT T ATC §AMT

15) Which one of the following may be used to develop creativity among the students? /
o & go (Frefefadh) el o & Rre Fru & frw e o1 SuaT fear wimar 22
1. Giving impositions / SHFRITOT BT

2. Dictating notes / :ﬁﬁ feraarn

3. Providing solutions / FHIYTT YT AT

4. Providing assignments / ?ITIEL?{QF[ Ll

Correct Answer :-

« Providing assignments / GHIGRA &1

Topic:- CHEMISTRY

1) The decomposition of NHj o) on a hot Pt surface follows zero order Kinetics at high pressure.

What would be the rate constant for this reaction? /

NH;g) BT 309 T T Pt Hg W S 16 UR I Pife a1 1 UTer el o | 39 SifHfspar &
fore fafdrse <= @ gfie

1.1

2. mol~'Ls~!

3. molL™!s

4. molL™1s™!
Correct Answer :-

« molL"ls™!



What is the Equivalent weight of the oxidising agent K,Cr,0~ in acidic medium?(Molar mass of K,Cr,0~
is 294 amu). /

AT WTAH | TRV FRP K,Cr,0, BT TAGE HR T 82 (K,Cr,0, BT AIGR SHHAT 294 amu
D)

1. 49
2.42
3.21
4. 98

Correct Answer :-

. 49

3) Which one of the following polymers comes under the class of Ployesters? /
frafifad sgae! # @ #14 uifiigwex atf # amar 22

1. Dacron / ShIH

2. Novolac / aidid

3. Melamine / fIF‘I'ITI'IE_"T

4. Nylon 6,6 / T 6,6

Correct Answer :-

o Dacron/ %$|7‘|

4) Why is it that when Iodine can readily form I3~ Fluorine cannot form F;~ at all? /
T F4) ¢ P SmaE St A I3~ 991 Il €, i WA F3~ 81 941 HobdT 82
1. It is because fluorine has no vacant d orbitals available in its valence shell. /
VT ST B i G F el Fef H 1S Rad d Ham ) g |
2. It is because of its high oxidizing power. / QﬂT Eﬂa'ﬁ I JHRITHRT Rfad &b BRI %I
3. It is because of low F—F bond enthalpy. / g ﬁﬂ;r F-F S a4 41i¥ar & HRoT %I
4, Tt is because of the high electronegativity of Fluorine. / g TR &1 3 W—W &1 dvig I % |

Correct Answer :-

« It is because fluorine has no vacant d orbitals available in its valence shell. /

U1 ST § Riifeh TINH & Gaioll el § Big Red d a8l g



5) pH value of N/10 NaOH is /
N/10 NaOH &1 pH 99 &

1.11
2.1
3.13

4. 10

Correct Answer :-

6) An organic compound A ( C3HgO ) reacts with Cu metal at 573K to form B ( C3HgO ). When B is
heated with Na;CO3(aq) and I, it gives a yellow solid C. When A is heated with Conc. H,S04 at 443K, a
hydrocarbon D (C3Hg) is formed.

Identify Compounds A, B, Cand D. /

TSP BIaf-d AE A (C3HgO), B ( C3HgO ) I9TH & flT 573K W Cu uTq & T1Y 3ifHfshar Ha1 81 o9 B &1
NayCO03(aq) 3R I & |TY T fFaT ST 3 4t a8 fiel 31 € 3T 31 519 A B HI7s H S04 P 443K TR TH fban
SITdT 8, 99 & gIggIPTa D (C3Hg) FifHa 8T 31

ARDI A, B, C 3R D P TgEITI

1. A=CH3—CH:—OCH: B=CH3:—CO—CH: C=CHIs. D=CH»=CH:

2. A=CH3;—CHOH—CHs. B=CH:—CO—CH3s C=CHI:s. D=CH:CH=CH2
3. A=CH;—CH:—CH:0H B=CH;—CH:—CHO.C=CHI:>. D=CH;CH=CH:

4. A=CH3;—CH>—CH:0H. B=CH3—CHr—CHO. C=Cu:0. D= CH3CH:CH3

Correct Answer :-

. A=CH:——CHOH—CH:. B=CH:—CO—CH: C=CHI:. D=CH:CH=CH:

7) Hybrid state of Cl in ClO53" is: /
Clo5~ # ClI Tt THivd a1 gl :
1. Sp3

2. szd

3. sz

4. Sp3d



Correct Answer :-

8) The amphoteric oxide among the following is: / Fafefad # TapleRk® sifwass 1
1. Gay03

2. CaO

3. Si0,

4, C02

Correct Answer :-

J Ga203

9) If the magnetic moment of [ Fe ( F )g]3~ is 5.9 B.M, the complex is: /

Tfe [ Fe (F )g]3 &1 gao 1y 3mguf 5.9 B.M g, d af iy &:

1. Outer orbital complex : low spin / ST&I HefiT TRy : Y Tpor
2. Outer orbital complex : high spin / STl ®eflg Y : I TH U
3. Inner orbital complex : low spin / 3R Hefig Iy ;- g Tmr

4. Inner orbital complex : high spin / 3R ®eflg T Iy : I IHT

Correct Answer :-

« Outer orbital complex : high spin / ST H&d TAY : I THU

10) Hydrogen electrode is prepared by dipping the electrode in a solution of Py = 3 at 25 degree
centigrade. The potential of the electrode at this Py is /

BIESIo saaels 25 S s W Py = 3 & Ao o saacis & gaie: dUR a1 Sa1 81 59 Py R SIS

FIfava g
1.+0.177V
2.-0.177V
3.-1.77V
4. +1.77V

Correct Answer :-

e —0.177V



11) Which of the following reaction supports open chain structure for glucose: /
Frafafaa & @ @19 @ srfufrar wes @1 et yaar Tra=m &1 aad| st 8:

1. Reduction in presence of HI / HI &t IUfRfd H 3rg=a—

2. Molich’s test / Hiferes TREUT

3. Reaction with HCN / HCN & ITY 3if¥fehar

4. Hemi acetal formation /%ﬁ[@?ﬁmﬁtﬁm

Correct Answer :-

« Reduction in presence of HI / HI &I Iufufd & sro=g=

12) Stable intermediate formed when nitriles are acid hydrolysed is: /

RR geaadf fAfda gid €, 59 o sia-sraafed 811 ara Arsfea sid &
1. Acids / 3{&1

2. Amines / THTSA

3. Ammonia / I

4. Acid amides / 3T UHISS

Correct Answer :-

« Acid amides / 31 UHIg S

13) Which statement is true about anomers of monosaccaharides ? /

HEHRISE & TR & g & &9 91 Y9 I 82
1. Anomers do not show mutarotation /WWWWWW%%
2. Anomers have carbonyl carbon forming acetal /@Wﬁﬁﬁﬁﬁ@?ﬁ@ﬁ%

3. Anomers are also diastereomers /Wm lﬁaﬁ%
4. C4 of fructose show anomeric form / Thae ISl &l ClQT-nTIW U el %

Correct Answer :-

« Anomers are also diastereomers /@Wm lﬂaﬁ%

14) Which is non polar but contains polar bonds? /

DA AYdHY g, AP 3TH ydta su= JuIRd gl 82

1. H,0



2. HCI

3. CO,
4. 50,

Correct Answer :-

L4 C02

15) The condition for free expansion of an ideal gas under adiabatic condition is : /

RRYS srawt & siaifa te emexl 19 & god fawr ot fRAfT 3:

1 g=0 , w=0 ,AT=0
2. g0 , w=0 ,AT=0
3. g=0 , w=0 ,AT#0
4. g=0 , w=0 ,AT=0
Correct Answer :-

g=0 , w=0 ,AT=0

16) Density of a metallic object is 5.6 gm/cm3. Express it in Kg/m3 1/

T YTicah areq T T=ear 5.6 AT/AHTS 31 & frarm/afid & == S |
1.56

2.0.056

3. 560

4. 5600

Correct Answer :-

« 5600

17) Hydration energy of Ca 2+ js greater than: /
Ca2* P TS Sl 39 3P gl &:
1. ARY

2. BeZ*



3. Na*

4. MgZ*

Correct Answer :-
« Na*

18) A gas in a vessel is heated in such a way that its pressure and volume both becomes two times. The
temperature of the gas expressed in kelvin scale becomes the initial temperature. /

TS 975 § 49 &7 9 T & TLH 63T 747 T ST 10 3 Aa«T QA1 ¥ AT g1 T Ffea 9= § 49 F7
AT T QIO 7 A ICIE

1. four times / AT [T

2. double / FRAT
3.2/3" / -fagrs

4. half / 4T

Correct Answer :-
« four times / AT AT

19) Energies of orbitals of H-like species depends only on where as the energies of orbitals of a multi
electron system depends on and .

H-UPR & TSIl & HP| Bt ST Fad R R 3l 8, Safe 98 sae [ 03 & BeD!
Dt HOA 3R R R st B

1.n,m,l

2.n,l,s
3.n,n,l
4.1,n,m

Correct Answer :-

20) Oxides of Nitrogen shows variable oxidation state ranging from: /
ATEEISIT o AFETSS ATEAT SFETHTT STFEAT GERECIG
1.-1to +2/-1®+2

2.2t0+4 /-2 +4



3. +1to+5/+1@+5
4, -3to+3/-3ﬁ+3

Correct Answer :-

« +1t045/+1 945

21) Methyl vinyl ether reacts with HBr at room temperature in the absence of moisture forms: /

Rrurga faarsa SUR FR & aruw wR T F srqufRufa & Her F Ty ifHfpar H= gATaT B:

| HaC—CO—CHj amt HyC—Br
, HaC—CHO and HyC—CH,—Br
3, Br—CH;—CHz—0CH;

H

|
H,C—C—OCH,
|
4, Br

Correct Answer :-

22) Choose the INCORRECT statement from the following. /

Frafafea 3 @ Taq sy B I

1. In sucrose, the two monosaccharides are held together by peptide bond./
IS H, I AFRIRISS DI UPES §e gRT U 1Y §7¢ R 3T oIl ¢ |

2. Carbohydrates are optically active. / m@f 2P7Td 39§ Iicha % |

3. Lactose has glycosidic linkage between Cy4 of glucose and C; of galactose. /
g ol B TIPS & €, 3R TQdeiSl & C; & d1d g INIied Jeavidl g

4, Maltose is a reducing sugar. / qTee g YhHT YD %I

Correct Answer :-

« In sucrose, the two monosaccharides are held together by peptide bond./

hio 8, I HARORISS $I UPRS S8 GRT Ud A1y §iY $HR @1 SIdl g |



23) Choose the INCORRECT statement from the following. /
fFrafafaa & wea 3= 74|
1. Streptomycin is used for the treatment of tuberculosis. /
LUCHTSRA BT IUANT qUfGe P SelTel o forg faam STl 3 |
2. Mifepristone is a synthetic steroid used as “morning after pill” ./
ARGIREH U H 1 IRG 3d g fSH] START * el & §le Jag" & wU § (G |
3. Ibuprofen is an example for narcotic analgesic. / WWWWWWW%I

4. Equanil is a tranquillizer used for relieving depression and hypertension./

TP Th URIAD &, FordhT STINT S(a¥Tg 3R I Ty J Igd U & g fovdm S g |

Correct Answer :-

« lbuprofen is an example for narcotic analgesic. / Gﬂﬂﬁl}hﬂ'ﬂm aéqIQ@ qdl D[ Udh JalorUl %’I

24) Which of the following is a non-biodegradable detergent?/ g A ¥ B9 R-safagediy fEesfe %?
1. Sodium-4-(1-dodecyl)benzenesulphonate / W-L(I-Eﬁm éﬁﬂ:lw[qﬂﬁz
2. Sodium-4-(1,3,5,7-tetramethyloctyl)benzenesulphonate / WA—(I ,3,5,7- éa&[mm

SRIENGUEAET

3. Sodium-4-(2-dodecyl)benzenesulphonate / m—4—(2—5\l SHIY o) SIiERy Q’I\Lb\l -c

4. Sodium lauryl sulphate / SSTH TR Iahe

Correct Answer :-

« Sodium-4-(1,3,5,7-tetramethyloctyl)benzenesulphonate / @%ﬂq-4-(1,3,5,7- éﬂ&[ﬂﬁ@m

SOl ICPIAC

25) Which of the following drug is not an analgesic? / ﬁgﬁr@aﬁﬁaﬁﬂaﬁwwqﬁ%
1. Butazolidine / SICTON TS

2. Naproxen / BICRE

3. Dichlofenac sodium /@ﬂsaf'nw oifeay

4. Ofloxacin / Wﬁﬂ

Correct Answer :-

« Ofloxacin / mﬁ:{

26) Which of the following is NOT a condensation polymer? /



FYIIRAd | B9 T4 9gaiP -6l 672
1. Melamine /fl?m:ﬂ%:f
2. Buna-S / 9-I-S

3. Nylon 6,10 / ITA@IH6,10

4. Dacron / Sla";lq

Correct Answer :-

+ Buna-S/d-I-S

27) Acetone and acetophenone can be distinguished by: /

TS ok Tl 31 $9& gRT faufea fosar o aear s:
1. Tollen’s test / TIcTT URI&UT

2. Saturated solution of NaHSO3 / NaHSO3 Wﬂ?ﬂﬁﬁw

3. Schiff’s reagent/ﬁl’fﬁm ffNHHD

4. DNP test / DNP TRI&UT

Correct Answer :-

« Saturated solution of NaHSO3 / NaHSO3 WWW

28) Identify the base which is not present in DNA: /
I &R D1 UgaT B, Sl DNA B HiS[g 81 o

1. Quinoline /_QFQFhﬁ‘FT

2. Thymine / ?‘I'IETﬂ:T

3. Adenine / TS1S

4, Cytosin /Flg_aﬁl:f

Correct Answer :-

+ Quinoline /?ﬂfﬁﬁ:{

29) Ozone layer depletion in Antarctica region is mainly due to the formation of i
SeThfedT &7 H SNl IRd 1 519 G FU A ¥ i & sRUT AT 21

1. Peroxyacetyl nitrate / WRIRuReRd | |§§E
2. Chlorine nitrate / &R T3¢ C



3. Acrolein / Qﬁ_”%‘l:l
4, Formaldehyde / tb‘rlﬁ?sagg

Correct Answer :-

« Chlorine nitrate / FAIRIA ATS¢C

30) An element X forms an oxide of molecular formula X,03. The percentage of the element X in it is 53.

Find the atomic mass of the element. /

TP ad X, SM0TP JF X,0; F T SATRIGS BT A0 Har 81 SHH dd X BT Ufa=d 53 81 39 ad
BT UIHTY] YR JTd B |

1.18
2.27
3.45

4. 36

Correct Answer :-

31) The de-Broglie wavelength of a particle with mass ‘m’ is 36 times its velocity. Identify the correct
relation for its wavelength. /

S ‘m’ AT TP PHUT BT SI-516lt aeiic e IHP T HT1 36 TAT 3 | TP aiie e T Hgt e
CEEIELY|

|
6 —
4. NR

Correct Answer :-



32) The least basic compound in the following is: /

Frafafea o ¥ =Aar e 9 3
"

N \\/\CHE—

4 NH3

Correct Answer :-

33) The Invert Sugar produced on hydrolysis of Sucrose is laevorotatory in nature and contains a mixture
of Glucose which is dextrorotatory and Fructose which is laevorotatory.

What proportion of Glucose and Fructose are present in Invert Sugar? /

IS &b BTSSIOIRIT B4 TR IcTed 37d¢ IFR Upa A ardTad gidl 8 SR 3T Tt H1 frsor
BT ? Sl grfeATad] gia1 2 3R e Iel @ il arHTed giar 2

$99¢ TR | DI 3R WIS BT T SUTd a1 82

1. 0.5M Glucose & 0.5M Fructose / 0.5M TP & 0.5M ol

2. 0.2M Glucose & 0.8M Fructose / 0.2M TN & 0.8M Whaeiol

3. 0.25M Glucose & 0.75M Fructose / 0.25M TP & 0.75M eIl
4. 0.4M Glucose & 0.6M Fructose / 0.4M TN & 0.6M Whaciol

Correct Answer :-

+ 0.5M Glucose & 0.5M Fructose / 0.5M "Ffih;]g & 0.5M Thae ISl

34) The van der Waals constants of a gas are a=0.751 L2 3t mol 2 and b=0.0226 L mol~!. Calculate the
critical temperature of the gas. /



U 19 & 919 ¥ a1ed fRRTP a=0.751 L2 atm mol2 3R b=0.0226 L mol~! &1 T &1 wifde arqH=
uf¥efera Sifomg|

1. 120K
2.545K
3.273 K

4.2K

Correct Answer :-

« 120K

35) The molecular formula of a coordination compound is CrBrj; . 4H,O.It requires one mole of AgNO; to

form pale yellow precipitate of AgBr.What is the structural formula of the compound? /

TS YUY T BT MUITAP JIA CrBr; . 4H,0 8| AgBr F WIdb WA 371 &7 @8y 91 & forg 39
AgNO; & TP JTHS(U] B TaRaHdl gid! & | NS BT WA 3 T 8?2

1. [Cr(H,O)4] Bry

2. [CrBr(H,0)5] Bry. H,O
3. [CrBr3(H,0)3] . H,O
4. [CrBry(H,0)4] Br.

Correct Answer :-

. [CI‘BI‘2(H20)4] Br.

36) The hybridisation of the sulphur atom in SF,, SF4 and SF respectively are: /
SF,, SF, 3% SF, # AW~ URHIY] & HHIUT SHHTT: §:

1. sp, sz, Sp3

2. sp3, sp3, sp3d2

3. sp3, sp3d, sp3d2
4, sp3,spd2, dzsp3
Correct Answer :-

. sp3, sp3d, sp3d2



37) The aromatic compound among the following is: /

Frafafea & @ wifta e 3

Correct Answer :-

38) The rate of a third order reaction is given to be r. If the initial concentration of the reactant is doubled,
what would be the rate of reaction ( rq) under this condition? /

TR pu Bt AfUfra Y o ¢ & ot 81 afe sifipR® $t yRfS Tigdar SR 8 ol 8, 9 59
Rufa & siavfa s srfiferar &1 &% wam gt (ry)?

1.r)=8r
2.11 = 64r
3.1y =2r
4.1 =4r

Correct Answer :-

e 11 =8r

39) The half life period of a first order reaction is 60 minutes. How long it will take for 75% completion ? /

TP UYH o AfUHAT BT 3 60 fFE 31 75% Ul 811 | fba=r aaa @@



1. 60 minutes / 60 THAC
2. 120 minutes / 120 e
3. 75 minutes / 75 e
4. 100 minutes / 100 f&FTe

Correct Answer :-

« 120 minutes / 120 fie

40) The correct order of depression in freezing point of the following compounds is : /
fafafea giffel & ffuie ¥ fRTae &1 98 $9 3:

1. CH3COOH > CF3COOH > CCl3COOH

2. CH3COOH > CCl3COOH > CF3COOH

3. CCl3COOH>CF3COOH > C H3COOH

4. CF3COOH > CClsCOOH > CH3COOH

Correct Answer :-

« CF3COOH > CCI3COOH > CH3COOH

41) Given below are 4 amines P, Q, R and S.

P = Methanamine. Q = Benzenamine. R = N, N- Dimethylaniline S= Ethanamine.
Choose the correct increasing order of their basic nature. /

4THH P, Q, R 3Rs TR g M@ {1

P = HY-ITH, Q= S=AYfHA,R = N,N- STSHUTEAUMEH s= ga T

I U UPTd & T8t ded HH BT I B |

1.P<S<Q<R

2.S<P<R<Q

3.Q<R<P<S

4 R<Q<S<P

Correct Answer :-

« Q<R<P<S



2 moles of an ideal gas undergoes isothermal reversible expansion from a volume of 10 dm3 to 100 dm>. AS
involved in this process is: /

TS 3MMexl 1 & 2 Ui (ITH-3M0]) 10 dm? T 100 dm3 96 & MG H THATI Scpyviig foar &
ToRd 8 | 39 WehH § Ififera AS §:

1.37.8 I mol'l K-
2.35.8 Imol'! K
3.22.4 I mol'' K
4.38.3 I mol’! K

Correct Answer :-

« 383 Imol’l K'!

43) During the electrolytic extraction of Aluminium metal from Bauxite by Hall- Heroult process, Bauxite
is mixed with Cryolite.

Given below are 4 statements giving reasons for the addition of Cryolite.

Identify the statement which does not correctly describe the role of Cryolite in the extraction process. /

TTA-gRIee UihdT gRT SiqaTse | TegHITay uTg & fagygd sruae-l fFrepdur & ER1, siearse &l
Hraarse & 91y fafya fear smar g1

PHAIAISE & YIS BT PRI dTd U 4 HY T MW B
98 HY U ot fremiur ufshar A wratarse ot YfieT ST 91 quiH 81 HraTl

1. It increases the electrical conductivity. / g f&qu CINERIC deldl %I

2. It lowers the melting point of Alumina. / g Qﬂlil:ll % IGEIEE ﬁ hH hdl %I

. N bV . c
3. Cryolite acts as a catalyst. / PTUIIRC FHID & 0 H BT Bl %I

4. Cryolite acts as a solvent. / W’Iﬁf Udh faama® & U d &Rt B % I

Correct Answer :-

« Cryolite acts as a catalyst. / FHAARE IORS & Y H Y HdT g

44) From among the compounds given identify the Allylic halide. (X = Halogen atom). /

fau v Oiftrel A @ Tarsiie 29SS ) UgAH $91 (X = AN URHTY)) |

1. CgHs—X

2. CgHs—CH,X



3. CH,=CHX
4, CH2=CH—CH2X

Correct Answer :-
« CH,=CH—CH,X

45) What is the Covalence of Nitrogen in Nitrogen dioxide? /
TSI STS3HTaITSS | ATSCIoH 3t AgadIsTdhdl o1 82
1.3
2.2
3.4

4.1

Correct Answer :-

46) What is the product formed when Propanoic acid is heated with HI and red P at 470K? /

P19 91 34T AT g1a1 8§ o1 MIUAIs® 3R &1 HI 3R AT P & ITY 470K R TRH fhar Sirdr 82
1. Propane / giu=

2. Propanone / PIEEIGH

3. Propanal / PIPE

4, Propene / U=

Correct Answer :-

+ Propane / FIER|

47) What is the product obtained on heating tertiary butyl alcohol with 20% H3PO,4 at 360K? /

360K TR 20% H3PO, & TTY TP SILT3d AePIgd I T H W U FHara TG T 872
1. But-1-ene / &JC-1-Uq

2. n- Butane / n-@:j\%:f

3. 2- Methylpropane / pREHIEIFE

4. 2- Methylpropene / pRE IR IFIIE]



Correct Answer :-

 2- Methylpropene / Z—ﬁfﬂm:f

48) 5.55 g of a mixture of calcium chloride and sodium chloride is treated with Na,COj solution. All the
calcium ions present in the mixture are precipitated as CaCO3. This CaCO3 on strong heating produce 1.12

g of CaO. Calculate the percentage of sodium chloride in the mixture originally taken? /

FIRTTT FARTSS R FifeaH FR1SS & FAYT F 5.55 UTH BY Na,CO; faaa= & a1y Iu=nia fan
irat 8 | forgor # SufRua 9t SR S caco, & = u # gafid gid €1 geg a1+ IR 98 CaCo,
1.12 UTH Ca0 IUH BT ¢ | ford T fayor A Gifeaw seiRigs 91 arafae ufa=radr 34 $32

1. 40%
2.50%
3. 60%

4. 73%

Correct Answer :-

« 60%

49) Calculate the energy of the IS stationary state (n=1) of LiZ*,

The ionisation energy of He* is 19.6x 1018 J atom™ /

Li* @1 Ugdl FRRTGRIT (n=1) B} Soil URPTerd Biforg|
He" @1 3TIFIHIOT KAl 19.6x10718 J atom™ §
1.-4.4x10717 J atom™!

2.-9.6x10717 J atom’!

3.19.6x10718 J atom™!

4.4.9x10'8 J atom™!

Correct Answer :-

e —4.4x10717 J atom™!

50) Calculate the kinetic energy of 1 g of O, at 47 °C. /

47 °C TR 0, & 1 TT D1 Tfel SHolt J1d B

1 2.24x10%



, 1.24x 10%]
5 2:24 % 102 J

4 1.24x10%]

Correct Answer :-

1.24 x 10%]

51) One of the following reactions is an example for disproportionation reaction.

Identify the reaction. /

o afuferarsei # & ve sRyATguTaH Siftifthar & e Ue Sererur 81
39 SifHfehar #1 wgnfg|

1. 4HiPO: = H3:PO4 +PH:z

2. POCl3 + 3H20 - H3PO4 +3HCl

3. PCl3 +3H20 - H3P0O3 +3HCI

4. 2Ag+PCls > 2AgCl+ PCls

Correct Answer :-

. 4H31PO:1 = HiPD4+PH:

52) Identify the drug which can be effectively used as an Antacid. /

fFrafafea 9 & 39 vl & ugaf St gUTd &9 & SFa@-T=IS & =0 d STIRT B off Jadl 3
1. Terfenadine / IRUTTSTZA

2. Ranitidine / XIS

3. Salvarsan / JeaR

4. Seldane / 9

Correct Answer :-

o Ranitidine / ﬁ”élgﬁ

53) Identify the compound which does not react with NaOH. /
9 UFIH B UgAIT St NaOH & 1Y AfHfomar 18Y war

1. BeO



2. Si02
4. CaO

Correct Answer :-

« Cal

54) Identify the isoelectronic and isotopic pair from the following. /
e o @ gugadeHl ok JHRITS T ugaifu|

1. 40Ca2+ and 40Ar / 40Ca2+ 3fiR 40Ar

2. 39K* and 40K " / 39K * 3R 40K *

3. 56Fe3* and S7Fe2t / S6Fe3T 3R STRe2*

4. 23Na and 24Na* / 23Na 31 24Na*

Correct Answer :-

« 39K* and 40Kt/ 39K 3R 40K+

55) Which of the following reactions, H,O, is acting as a reducing agent? /
Frafafea o 3 f5a sifufsar ®, 1,0, T STaa® $R® & U d T4 FI G 82
1. PbS+4H202 —PbS04 +4H:20

2. CsHe + H202— CsHe OH+ H20

3 Ag20+H20:—2Ag+ H20+02

4. HzS+H20:—2H20+5

Correct Answer :-

Ag20+H20:—2Ag+ H20+02

56) Which of the following set represents the valence electron of rubidium (Z=37)? /

Frafafeaa o @ o9 a1 9 Fafean (z=37) & Juici saae = 1 ufaf—itd S 82

1
5,0,0,4=
(€ =)



1

91,04 =

, =
511-|-1
3( L Ej

i
6,0,0+—
4. ( Ej

Correct Answer :-
500+ 1
. [: Rt Bt} 2]

57) Which of the following amines cannot be prepared by Gabriel’s phthalimide synthesis? /

frafafeaa & & #1491 35 e & BUTeHTE S T §RT AR T8 fobar S wever 82
1. 2-Phenylethylamine/ Z-aﬁﬁﬂ@ﬂ&ﬂ:ﬂ:f

2. Butylamine / @E'I?III'IE:T

3. N-Methylphenylamine / N-frrsah s

4. N-Propylamine / N-@W\Wﬂ:{

Correct Answer :-

« N-Methylphenylamine / N-FrrEahaaasH=

58) Which of the following element is expected to have the highest third ionisation enthalpy? /

g A 3 o9 A 9 B T A ardig ariar (emaaa TRed) gat= snfée 82
1.Magnesium/ﬂm
2. Beryllium / SRferad

3. Aluminium / T8 =aH
4. Boron / CING]

Correct Answer :-

. Beryllium / SRfeH

59) Which of the following is the most stable conformer of ethane-1,2-diol ? /

fFrafefaa d o149 $39-1, 2-sTaa &1 Jaifys RR gEus 32



T s
E €I

60) Which one of the following solvents will produce the maximum depression in Freezing point for a
solution having 1 molal concentration of a nonvolatile solute?

K¢ values of the solvents are: Acetic acid:3.9 K kg/mol; Carbon tetrachloride: 31.8 K kg/mol ; Ethanol:
1.99 K kg/mol; Water: 1.86 K kg/mol. /

o & A =19 I e fAerge e 0 faeaq & fore forad srarwo=iia fady &) gigar 1 Aida g, ffHie
A AfUHan aTHT I HI?

faama®) & Kk, 7 §: Tfife® or: 3.9 K fPaRmAMHSIy; S+ AeeaRiss: 31.8 K fharmamasm
SAATE: 1.99 K fHEUTAMTHSI]; U 1.86 K fhaiunAma 3

1. Ethanol / ‘s’a:ﬁa
2. Carbon tetrachloride / BT %‘g'ra%ﬁﬂgg



3. Water / OTH1
4. Acetic acid / QI@IE% 3T

Correct Answer :-

. Carbon tetrachloride / T8 %’gﬂ?ﬁ?ﬁ'@

61) Which one of the following isomers of C4HoBr will readily yield 2-Methylpropan-2-ol on hydrolysis by

Sn1 mechanism? /

CH,Br & 1 TUTawal ¥ | B A1 TH Sy 1 Frafafd grT wa-srage &1 W 2-Afawiu=-2-sia
ST A A B2

1. Tertiarybutyl bromide / Joii SICTSA STHTZS
2. Isobutyl bromide / 334 LTI HHRZS

3. Sec-butyl bromide / fgdTa® Segd SIHSS

4. n-Butyl bromide / T4-SJCT3d SIHIZS

Correct Answer :-

. Tertiarybutyl bromide / Jai1d TS STHZS

62) Which one of the following reactions does not confirm the presence of aldehydic group in the structure
of glucose? /

Wﬁ%ﬁﬁﬁﬁ@ﬁﬁmﬁmwﬁmﬁﬁg@ﬂﬁm

1. Reaction with acetic anhydride / URifcen QHGIES\ 13 &b 1Y 3MfHfehar
2. Reaction with hydroxylamine / E@mﬂﬁq & 1Y Hfufesar

3. Reaction with phenylhydrazine / flh-TTScIgTS S & ITY 3ffHfehar

4. Reaction with NaCN/HCI / NaCN/HC1 & Ty ffufepar

Correct Answer :-

+ Reaction with acetic anhydride / uRifes Qﬂslsslsg & 1Y 3

63) Which one of the following transition metal complex ions is expected to be coloured? /
o Tsparor et frgor sl A & frasds wiF g1 @t Sufig 82
1. [Ti( Hy0)]**

2. [Fe(CN)¢]*



3. [Sc(H,0)¢]*"
4. [Zn(NH;)4]**

Correct Answer :-
« [Fe(CN)4J*-

64) Which one of the following compounds would be obtained as the product by Gabriel’s Phthalimide
synthesis? /

Tfsad & ARMISS ARAYUT §RT ITE & FU | 9 & A D19 91 U@ 9ffe yred gime
1. RCOOH

2. R3N

3. R—NH,

4. R—NH—R’

Correct Answer :-

« R—NH,

65) Which one of the following pair of species has the same bond order? /
frafafed & & yonfaat & fora gm & g du= HH 52

1. NO, CO

2. Ny, Oy

3. 037, B;

+ +
4 03,NO

Correct Answer :-

66) Which one of the following acids will give Phenol as the product when its Sodium salt is heated in
presence of Sodalime? /

1Y 3rat § A P9 91 IS & FU § BAId S 99 JIfSTH 7901 B ArSTagH 1 Iufeufa &
forar AT 82

1. Malonic acid / ﬁ?ﬁ% T
2. Phthalic acid / BIfeTeh /BT 3FT



3. Benzoic acid / aﬁﬁ% 3T
4. Salicylic acid / Sfcififere sra

Correct Answer :-

. Salicylic acid / fcifafere 3ra

67) Which layer of the atmosphere is affected by the depletion of ozone gas? /
el 1 & RfdTe<or @ argred @1 19 W w—a yHifad gid 22

1. Stratosphere / JHATT HSA

2. Thermosphere / ATAHSA

3. Mesosphere / AHHS A

4. Troposphere / gugusd

Correct Answer :-

« Stratosphere / JHATY HSA

68) 2 mL of 0.1 M Hydrochloric acid is mixed with 2 mL of 0.1 M Sulphuric acid. On adding 2 mL of NaCl
solution into the above mixture, the volume is made upto 6 mL. Calculate the pH of the resulting mixture. /

0.1 M ETSSIFAIND 3 & 2 firefielier &1 0.1 M TERIN® 3 & 2 firclidier & a1y femn Srar g
Iude firgor # 2 frefiefier Nacl o= &) s1em W, 7 6 frefiefier a@ 8t ot 31 ufvomd fysror
& pH B MUET HI |

1. 14
2.0
3.1

4.7

Correct Answer :-

69) How many bonds are there in 1,3,5,7-octatetraene? /

1,3,5,7-3iTdecerg | fpa s g2

, 160 and 51 160 Td 57

5 150 and 4w | 150 Ud 4w

3. 17c and 4w | 17004 4n



4 140 and 3w / 140 Ud 31

Correct Answer :-

o 17cand 47 [ 170 U9 4

70) Choose the INCORRECT statement from the following. /
fFrafafed & 3 Taq sy A

1. Denaturation of proteins causes loss of secondary and tertiary structure of proteins. / gicH & §FI§ 3R AW

AT & 3HTT I TS BT faGcidmrul gial g |
2. Tertiary structure of a protein refers to its complete three-dimensional structure. /
A &1 It a1 39! quf F1-smar WRa-1 &1 Gefifd #rar gl

3. Antibiotics are proteins which defend the body against the invasion of foreign organisms. / Qﬁa@ﬁaﬂ q
WA BId &, S TRR HT 18T Siidl & SATHHUT & a9 §a1d HRd 6|

4. B-Keratin present in claws and shells of reptiles has antiparallel B-pleated sheet structure. /

B-hRfe HIN[E Uot 3R TR T TR & UfaHR p-gACER URd P! §-1dc gl o

Correct Answer :-

« [B-Keratin present in claws and shells of reptiles has antiparallel B-pleated sheet structure. /

B-hRfeT HIN[g Uol SfR HTARTT aTel TRIgUl & UfAHIR p-IACER URd &I §1d¢ Bl &
71) CANCELLED

Which of the following is an essential amino acid? /

fFrafafaa & 3 &1 a1 erfiat sra smaza® &2
1. Glycine /"Fﬂ%ﬁﬂ
2. Proline / T

3. Isoleucine /3@@3@:{
4. Serine / T

Correct Answer :-

. A4
« Isoleucine /Eﬂm

72) CANCELLED

Which of the following will give more stable alkene during dehydrohalogenation? /

Frufafea 94 @ w19 Stesgieaie & IR siftre fRUR Ters=1 &m?



1. CH3CH CICH, CH,CH3
2. CH3CH CICH, CHj

3. (CH3),CHCH (Cl) CHs
4. (CH3),CHCH, CH,Cl

Correct Answer :-

« (CH3),CHCH (Cl) CH,

73) CANCELLED

Methyl and ethyl halides can undergo SN2 mechanism to give different products with: /

___ qra fafira Iaume uer #3A & fore frurser ok sutse garss s, 2 frarfafy e o a@d €1
1. NH3

2. AgNO,

3. RONa

4. Mg/ether

Correct Answer :-
. AgNOZ
74) CANCELLED

A solution is prepared by mixing 60 mL of N/5 HCl and 40mL of N/5 NaOH. Assuming complete ionisation of
acid and base, calculate the pH of the resulting solution. /

N/5 HCI & 60 mL 3fR N/5 NaOH & 40 mL B! Ff¥d #vdh T faaa= AR frar smar g1 o Sk &R &
qut SRRl &1 7T §¢, uikumst faee= & dieg &t o &4

1.14
2.2.2
3.3

4.1

Correct Answer :-

75) CANCELLED



Increasing order of reactivity towards nucleophilic addition is: /
gfeaafsfee e & ufa siffpariaar #19gar HH &:

1. Acetophenone < p tolualdehyde < benzaldehyde < p nitro benzaldehyde /Q?ﬂaﬂv_"n:f <l d\lg&ﬂi\SEﬂss <
doIdfSEISs < Ul A1gel doafegss

2. Acetophenone > p tolualdehyde > benzaldehyde > p nitro benzaldehyde /Q@aﬁ:{ >4t d\lg&lﬂi\sslss >
doIATSEISS < Ul ATEc] doldfSgss

3. p tolualdehyde < benzaldehyde < Acetophenone < p nitro benzaldehyde /ﬁ)[?ﬁﬂ&l?l'%ﬁ'lﬂ_s' < éaa%ass’ <
THIAHAM < 0t 1] dolafegee

4. Acetophenone < benzaldehyde < p tolualdehyde < p nitro benzaldehyde / THICIHAIM < doldlsgiRe < Ul digefesse
< U1 1gel doldafegzs

Correct Answer :-

« Acetophenone < p tolualdehyde < benzaldehyde < p nitro benzaldehyde /Q?ﬁa'av_-ﬁ? < d\l<j,31t'1l%6l'is <

EENIEHESR BIENE SNIEHES
76) CANCELLED

Cyclohexanol undergoes dehydration to form cyclohexene. The yield of this dehydration is 75%. Calculate
the yield when 100 g of cyclohexanol dehydrated. /

AEFaleaHId, Agaaieaa &I i 34 & e feidiesor 3 giex Torar 81 39 fAsidier
BT SWIG 75% ¢ | SIS P 0T Y o g aalgaqi-id T 100 I fsielipd gar 81

1.38.34¢
2.615¢g
3.25¢g

4.75.00¢g

Correct Answer :-

77) CANCELLED

When benzene is treated with isobutene in the presence of sulphuric acid, the product formed is: /

g:%ﬁﬂqﬁwmﬁﬁmaﬁmﬁﬁamﬂ?ﬁ%wummm%ﬁﬁﬁam

1. rbutyl benzene / N-SgeTSd SoiA
2. tert-butyl benzene / tert- SIS doiA

3. Isobutyl benzene / \H'IE@W CEIG!



4. Toluene / a?cﬁ

Correct Answer :-

. tert-butyl benzene / tert- SICISA SSi

78) CANCELLED

The set representing the correct increasing order of basic character is: /
Hd G & T¢d HH ST Tt Uit H3 a1 I &

1. K,O < Na,O < Al,03 <MgO

2. MgO < Al,03 <K,0 <Na,O

3. Nay,O <K,0 <MgO < Al,O4

4. Al,03 <MgO <Na,O <K,0

Correct Answer :-
. A1203 < MgO < NazO < Kzo
79) CANCELLED

The pH of 0.10 M solution of NH4Cl is:

-5
[dissociation constant, K (NH;3) = 1.6 X 10 1/

NH,C1 % 0.10 M faaa= &1 fiea 2

[GUEHUT fRR1®, K, (NHy) = 1€ X 1077
1.7.36
2.5.01
3.1.65

4.1.98

Correct Answer :-
« 5.01
80) CANCELLED

Which one of the following represents the correct increasing order of basic strength of the given Amines? /

Frafafed o @ o9 THEH 91 4d &Ha1 & 96 HH & Jat ufafAfid $ars?



1. p—Nitroaniline < Aniline < 4—Methylaniline < Benzylamine /
p-TSCITATE < TR < 4-fruTgaifer < dergedrsT

2. p—Nitroaniline < 4—Methylaniline <Aniline < Benzylamine /
p-SCIUMATRH < 4-fRITEafAfer < Thfem < degeargA

3. Benzylamine < Aniline < 4—Methylaniline < p—Nitroaniline /
éﬁr&ﬁﬂm<qﬁ%=r<4ﬁusﬁﬁﬁ=r<p;ﬁaqﬁﬁq

4, Benzylamine < 4—Methylaniline < Aniline < p—Nitroaniline /

m<4-ﬁmﬁﬁ?<qﬁﬁ?<pﬁﬁa@%

Correct Answer :-

« p—Nitroaniline < Aniline < 4—Methylaniline < Benzylamine /

p-TTEETRfIT < AR < 4-Frugafaferm < SomganmA
81) CANCELLED

Which of the following compound will give the same product on reaction with HBr in the absence as well as
in the presence of peroxide? /

fFrafafaa ¥ 9 o9 a1 9o WRisarss # srufRufa sryar Sufufa & uer & Iy sifufrar FA R
U 3G G2

1. 1-butene / 1-@?
2. 2-methyl propene / 2-fyEa mua
3. Propene / g

4. 2-butene / 2-65%3
Correct Answer :-

. 2-butene / 2-8gcH

82) CANCELLED

Which of the following artificial sweeteners is known by the chemical name ortho-sulphobenzimide? /

fFrafafea o ¥ w19 @ $H0 TeR TmafAe 9 siil-aepia-aTsATs S gRT S STt 82
1. Saccharin / T3feh+1
2. Aspartame / TWRSH

3. Sucralose / Wﬁf
4. Alitame / UcfieH



Correct Answer :-

« Saccharin / W

83) CANCELLED

Which component/bond of the polymer PHBV makes it suitable for making flexible capsules enclosing
drugs? /

TITerR PHBYV &1 P IT Ueh /AU 3 MUY 9ied Ue aiiar »oge 391 & fore Sugad a9mar g2
1. 3-Hydroxypentanoic acid / 3-@@?@% e

2. 3-Hydroxybutanoic acid / 3-83SIRIgCHIS®H TR

3. The substituent alkyl radicals / Tfa=mdt Uehlgd s
4. Ester linkage between the 2 monomers / 2 ThHdD| & dig T Jgaud]

Correct Answer :-

+ 3-Hydroxypentanoic acid / 3-613@3@'61?% TRTS

84) CANCELLED

A crystal acts as a catalyst and can be obtained naturally as well as synthetically. It is a 3D network of
silicates in which some silicon atom can be replaced by aluminum. The crystal is: /

TP ThHIeH AP & ©U A 1 Hdl 81 34 WHpfae ©u J iR 1Y & 1Y 9 Fu A ft e
o o I an 81 98 Riftidee &1 U@ 3D Aca® g, ormw oo ffereia wam vepfifag grr
wfaaTfid fore o 9@ d €1 98 A 8:

1. Alum / fthe s
2. Silicone /W

3. Glass /$Tﬂ

4. Zeolite /%TG-nFI'IEE’
Correct Answer :-

o Zeolite /%TG“FII%E
85) CANCELLED

In the Nucleophilic substitution reactions of Alkyl halides, which one of the following Nucleophiles cannot
act as an Ambident Nucleophile? /

THISA sAT3SY &I gfaaaifbies afawura sifufirarel 7 9, Fufafaa A ¥ s
YfRTAFTEd U P GfRTamed & 70 § ST 781 B JbdT 32



1. SCN™
2.RO™
3.CN™

4, NOz_

Correct Answer :-

86) CANCELLED
In Antarctica, the chemical moiety responsible for ozone layer depletion is: /
SeThie®dT §, 3ol URd & 3 & fore SRRl IRmufe srufwr (\emsdh) @:

1. 80O, and SO3 / SO, 31X SO,

2. Peroxyacetylnitrate / ailaﬂlﬁmélaﬁ"llﬁaa
3. Chlorine nitrate / &R Iséj

4. Acrolein / Qﬁ.”%‘l'_‘l

Correct Answer :-

« Chlorine nitrate / &R I'siaa

87) CANCELLED

Choose the INCORRECT statement from the following. / fFrafef@a H 9 TAd HYH B ﬂﬁ |
1. Natural rubber is a 1,4-polymer of isoprene. / W Rdg &I'I_E'g@'Eﬂ:f Pl UD 1,4-dgcidh %I

2. Caprolactum is the monomer of nylon-6. / PUIdFeH A6 BT Udhddh gl

3. Buna-S is a copolymer of 1,3-butadiene and acrylonitrile. / g-I- S 1,3-@_3@3" 3R Qﬁv_c‘ﬁ:lw DI Uh
IS & |

4. Phenol-formaldehyde resin is known as bakelite. / BId-TTHICS BT S I SaAT3C & =Y H ST ST B |

Correct Answer :-

+ Buna-S is a copolymer of 1,3-butadiene and acrylonitrile. / §-I- S 1,3-§J,CI% it G‘ﬁT Qi\ Q’1\I'-|I$<;\I$C1 DhTUdh
THEEAD ¢ |

88) CANCELLED



Naphthalene (C1gHg) balls were kept in a closed container at room temperature (27 °C). The vapour
pressure above the balls was found to be 0.10 mm Hg. Find the value of Kc(sublimation). /

ARIEAT (C1oHg) TEl BT ATH ATHT W (27 °C) TP §¢ He-R A ¥@T TATI TGl & HUR 987 14 0.10 mm Hg
T 7| Ke( Sedura) &1 |1 J1d 11

1 5361070

, 6.02 % 1p—23

3 7.45x 107®

—4
4 1.32x 10

Correct Answer :-

5.36 x 1076

89) CANCELLED

Action of heat on A, a dibasic acid of phosphorous, gives noninflammable hydride of phosphorous B,
which becomes inflammable when exposed to air. Aand B are: /

BB RY P G 3 A TR ST $t {3541, BIBPRY B BT caa-RId g13S15S ol 8, 9l 891 & |ud A 3
R GTRNA T AT 81 ARBE |

1. H3PO3 and PH4/ H3PO3 3R PH4
2. H3PO3 and PH3/ H3PO3 3R PH3
3. H3PO4 and PH3/ H3PO4 3R PH3
4. H,PO3 and PH3 / H3PO3 3T PH3

Correct Answer :-

« H3PO3 and PH3/ H3PO3 1R PH3

90) CANCELLED



Examine the structure and identify the stronger base. The stronger base is because /

AT T FArg 3N vEel &I T 9gEieT ] Jae &K &, Fite:
[ j. ’f : g
A B

1. B : NO; group deactivates the ring /
B : NO, JHg &l &I Aftrd axal g
2. A : steric hindrance due to CH3 group /
A : CH3 g & ®RUI LRP Ry
3. A : NOy group does not effectively delocalize the electron pair of NH, /

A : NO, THE UHTA! T J NH, 1 gaiaei< Sl ! SR T8l Rl §

4. B : steric inhibition of resonance due to CH;3 group /

B : CHy JHE & HRUT 3G BT L RPb HRIY

Correct Answer :-

« A : NO; group does not effectively delocalize the electron pair of NH, /

A : NO, THg THTd! T J NH, 1 Fetac i Sl ! SRIFIpd gl Bl &

91) CANCELLED

An electron falls from co to stationary state 1 in a hydrogen atom. The wavelength of electron
emitted would be:[R = 1.097 x 107m™1]/

U golrcldd U gigsiele WA # co & TG 1 & BT §1 Scafeld seirghd
FT dEGEd R [R = 1.097 x 107m™1]
1.1.0 x 108 m

2.9.1x 108 nm

3.91 nm
4. 1.097x10°7 m

Correct Answer :-



92) CANCELLED

The increasing order of stability of the following carbocations:

| faafataa sEfeya 1 Rar &1 gear &5 &Je &

+ +
@ H;C—CH—CH, Gii)) (CH;);C

+ i
@) H3C—CH,—CH, (v) (CH3);CCH,

1. (iii) < (i) < (iv) < (i)
2. (iv) < (ii) < (i) < (i)

3. (iv) < (iii) < (i) < (i)

4. (i) < (i) < (iii) < (iv)

Correct Answer :-

. (iv) < (ii) < (i) < (ii)

93) The order of decreasing reactivity towards electrophilic substitution for the following
compounds is: /

frafaf@a dife & v soegiihide o & G 7 sfafthariear &7

HA H FH o
CF; OCHs CH,
580 d
{1 (I} (I1I} avy

1. (I) > (II) > (1I1) > (IV)
2. (I11) > (IV) > (I) > (II)
3. (I1) > (IV) > (I1I) > (I)
4. (I1) > (I) > (1) > (IV)
Correct Answer :-

« (ID > (IV) > (1) > (I)



_--K

Consider thereaction £Y(9) === X{g) + Y(g)
If 33% of XY is dissociation at a total pressure of P, the correct relation between Pand Kpis: /

HATGRaT W fdar &I XYlg) === Xg)+Y(g),
afg XY ST 33% P & od g9 W fdged g.ar PR Kp & &9 |@gr a9 &

1. P=2Kp
2. P=8Kp
3. P=4Kp
4. P=Kp

Correct Answer :-

95) Identify the major product of the given reaction./

& a5 HATHAT & UAE 391G & Al

Hz50
CeHe + (CH 2)2CHCH 2 OH -

CH,
H,C—C—CH,—CgH.

|
1. H

CHs
HcCs —~C—CH5
5. CHs

3. CH,

4, CH,

Correct Answer :-
CH,

H:Cz —C—CH,
CHs



Mz + 02 < 2NO - K
2MO + 02 & 2ZNO2 - K
MNOg¢s ¥k Nz + 02— Ks

Kz in terms of Ky and K2 will be /

Ki U9 Ko & 98T & Ks T & G
1. [1/ Ky x Ky JM4

2. [1/ Ky x Ky 112

3. [Kyx1/K, M2

4.[ Ky x Ky 142

Correct Answer :-
o [1/Kyx Ky M2

97) The standard Electrode Potentials at 298K of the Metal ion / metal are as shown:

M~/M wer W - | L |
Z
E'V +1.81 —293 | —166 | 08

Identify the correct decreasing order of their reducing power_/

208K U g /U] & Al Sodgs faxa @ e g
M=F/M [ WBTW | X=X | YRY | 22
Z

E'WY +1.81 —293 | —1.66 +0.8

IoTchl 9O ATdd & Tel Hed e &l Jgdiieiv]
1.X>Y>Z>W
2.Z>W>Y>X
3.W>Z>Y>X
4 W>Z>X>Y

Correct Answer :-

e X>Y>Z>W



Energy
Products

Reactants

Feaction Coordinate

If the activation energy of the forward reaction is 15kcals/mol and heat of the reaction is 5

kcals/mol, the activation energy of the backward reaction is /

afe 3w & sfafear Fr afkaor a1 15 et Fay/ I 397 § 3k ke &
FSAT 5 fohell e/ WA 70T &, dF TREadl JAEIfRar 6 afeaer =1 &

1. 20
2.5
3.0

4.10

Correct Answer :-
« 10

99) For the reaction. H,(g) + 0,(g) = H,0,(g). the standard enthalpy change in kI/mol is:
[Bond enthalpies of H-H, O=0, O-H and O-O are 438 kl/mol, 498 kl/mol, 464 kl/mol and 138

kI'mol respectively] /

H,(g) + 0,(g) - H,0, [H]m F oo, Aaes ardg enlar @ Kimel &

gRafda giar &
[H-H, 0=0,0-H 3R 0-0 &#I g9 ardiw eniarsaen 438 klimol, 498 kl/mol, 464 kl/mol

3 138 K/imol ]
1. -130
2.+334
3. +130
4. -334

Correct Answer :-

« -130



The number of electrons involved in the process of MnQ} getting reduced to Mn?* in acidic medium is: /

HEAT ATETA H MnO; & Mn* H oTHhd lel bl Ufehar F enfAer seaelal S der gidr &

1.2
2.5
3.3

4.1

Correct Answer :-



